[bookmark: _GoBack]Three squires decide to go on a trip to a zoo. Let's call them Squire A, Squire B, and Squire C. Unusually, the zoo is offering free rides on any animal of choice to all. This excites the three squires. "Ooh ooh ooh, I wanna go on a giraffe!" says Squire A, and so he does. "I wonder what riding a tiger would be like?" ponders Squire B, and so he finds out. But Squire C is troubled, as he does weigh more than the average man, in fact he weighs as much as Squires A and B combined. Fortunately, the zoo has a hippo and so he is allowed for a ride on that. And what is the point in this whole story you ask? Well, brace yourself and prepare to groan:

It is that the squire on the hippopotamus is equal to the sum of the squires on the other two rides.
